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XY —F XkWarsvy—F pHE oy — B/ % & L & a3 v
MR & BEOM
Brm T OHE rm T8 K= Wr m L ¥ #HE rm T8 K=
- 0.00
0.60 2.10 1.05 0.6 (1. 40+1. 61) *1/2%0. 301. 00=
0.12 2.23 2.17 0.3 -0.5
+2.5 1.78 2.23 2.23 4.0
1.78 2.23 2.23 4.0
0.12 2.10 2.17 0.3
0.60 0.00 1.05 0.6
- 0.00
0.25 1. 41 0.71 0.2
+2.5 1.90 1.41 1.41 2.1
1.90 1. 41 1. 41 2.1
0.25 0.00 0.71 0.2
- 0.00
0.50 0.40 0.20 0.1
+2.5 1.65 0. 40 0.40 0.7
1.65 0.40 0.40 0.7
0.50 0.00 0.20 0.1
& i 13.6 9.8 5.8 1.6 -0.5




HFREST £ ®¥ H = H EFE £
E #® Z B 1= -~ S R 4 A% & L & B B
MR & BEOM
Brm T OHE Wrm T8 = Brm F 8B H=E Brm FH =
- 0.00
0.60 2.05 1.03 0.6 1. 00%0. 30+1. 00%0. 37=
0.12 2.46 2.26 0.3 -0.7
+2.5 1.78 2.46 2.46 4.4 (1. 40+1. 61) %1/2%0. 30*2=
1.78 2.46 2.46 4.4 0.9
0.12 2.05 2.26 0.3
0.60 0.00 1.03 0.6
0.25
+2.5 1.90
1.90
0.25
- 0.00
0.50 1.40 0.70 0.4
+2.5 1.65 1. 40 1.40 2.3
1.65 1.40 1.40 2.3
0.50 0.00 0.70 0.4
& i 13.6 10. 6 5.4 0.2




HFREST £ ®¥ H = H EFE £
mLavsy—F #H L Y BB
AR E BB
Brm T OHE rm T8 K= Mrm F® = Brm FH =
0.60
0.12
+2.5 1.78
1.78
0.12
0.60
- 0.00 0.00
0.25 0. 41 0. 21 0.1 0.20 0.10 0.0
+2.5 1.90 0. 41 0. 41 0.8 0.20 0.20 0.4
1.90 0. 41 0. 41 0.8 0.20 0.20 0.4
0.25 0.00 0.21 0.1 0.00 0.10 0.0
0.50
+2.5 1.65
1.65
0.50
& § 13.6 1.8 0.8




EEREET £ B % E H E =
5 r v = I+ # S o4 — T ok —
A s BB
W E TN B E WNE TN ME KHE TH NE HBE TFH g

NO. 0

+2.5 2.50 4.5 50 0. 4%3= 1.2

+5.0 2.50
a i 5.0 4.5 50 1.2




HPHREEET .
T & B & F* GEFEI)

el 12.1x0.9= 10.9 , Bt
12.4 10.9
PR 13.1 x0.9= 11.8 , R
39. 6 1.8
Bt EERFET
12. 4+39. 6+0-12. 1-13. 1= 26. 8
26.8




BFREET & B #®% =2 FH # £ BT
) ® A 17 I S
A B
HE OFH KE KE FH ME KE FH KE WE FH HE
R -2.1 - 07 2.0 0.6 0.2
RNO.O 21 07 07 15 20 20 42 06 060 13 02 02 0.4
R+3.0 30 01 040 12 25 225 68 04 05 15 02 02 06
R+43 1.3 21 110 14 29 270 35 14 09 12 01 015 02
L N0.0 - 26 2.9 1.4 0.1
L+50 50 00 13 65 21 25 125 04 09 45 1.6 08 43
4110 60 06 03 18 21 210 126 07 05 33 02 09 54
& B 174 12.4 39.6 1.8 10.9




MFREST £ @ #H =2 =

o m o# E B & L i
AAA B M
E FH KE NE TN HE % 2
R -2.1 -
R NO.0 2.1
R +3.0 3.0 (0. 13+0. 70) *1/2%1. 30%0. 30=
R +4.3 1.3 0.2
L NO.O -
L +5.0 5.0
L+11.0 6.0
& § 17.4 0.2




HPFHREET & ] eS| = =t =1 = —_
#wE J o vy £ 2 B A J o vy v ®E OB 7] A o Y | A
MR A BB
B E FTH OHE rE FH OHE B E FTH OHE rE FH OHE
1.3
R -2.1 0.5
0.3 2.6 1.2 1.0
R NO.O 1.8 2.6 2.60 4.7 1.2 1.20 2.2 1.8
R +3.0 3.0 2.6 2.60 7.8 1.2 1.20 3.6 3.0
1.0 2.6 2.60 2.6 1.2 1.20 1.2 1.0
R +4.3 0.3 1.0
1.3
L NO.O 0.5
0.3 2.6 1.2 1.0
L +6.0 4.7 2.6 2.60 12.2 1.2 1.20 5.6 4.7
5.7 2.6 2.60 14. 8 1.2 1.20 6.8 5.7
L+11.0 0.3 1.0
0.5
1.3
& & 22.8 42.1 19.4 16.2 4.0




MEREYT & & 5 = =t =1 = wET
v YU D 1+ I
AR BB
W E TH OKE KE FH E WHE TH g W@E TH ONE
0.0
1.3 2.9 1.45 1.9
R-2.1 0.5 2.9 2.90 1.5
0.3
R NO.0 1.8
R +3.0 3.0
1.0
R +4.3 0.3
0.0
1.3 2.9 1.45 1.9
L NO.O 0.5 2.9 2.90 1.5
0.3
L +5.0 4.7
5.7
L+11.0 0.3 2.9
0.5 2.9 2.90 1.5
1.3 0.0 1.45 1.9
& & 22.8 10. 2




MEEEET & & M = 5 =1 =
 ABIoSHE-BRE KB+ 0S5 #B A m O T

B oS & BB

BE FH K8 WE T OHE WE FH OHE KE T B

1.0 1.0
AKANIET 20.0 1.0 1.00 20.0 1.0 1.00 20.0

1.0 1.0
&Y T 5.0 1.0 1.00 5.0 1.0 1.00 5.0 19.0

19.0

& 25.0 25.0 25.0 38.0




At

=
HAL Y 0 B EHESE
P2 N N
0.83
o
©
o~
1.20
LR
£ R O ) =X T & BT
a7 U—Fh (0. 83+1. 20) *1/2%2. 60%0. 30 0.79 m3
TP (0. 83+1. 20) *1/2%2. 60%2+2. 60%1. 118*0. 3 6. 15 m2




At

=
HAL Y 0 B EHESE
4B Tay s K
100 avvy—Fk
(o ck=18N/mm2)
/_ o
ol =
o
550
10m24 v
£ R O ) =X T & BT
a7 U—Fh (0. 15%0. 55+ (0. 10+0. 55) *1/2%0. 15)*10. 0 1.31 m3
TP (0. 15+0. 30) *10. 0 4. 50 m2
HLE R 0. 55%10. 0 5.50 m2




